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2.TCP/IP Bk S
2.1 AEHIHEREIE AT S : AT+MIPCALL

LtEIE< AT 1&H PPP BUESE.
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X :
. +MIPCALL: <Status>[,<IP>]
AT+MIPCALL=<Action>[,<APN
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K
ERROR
+MIPCALL: <Status>[,<IP>]
'EEWHS AT+MIPCALL? ;
OK
+MIPCALL:
(0-1),(APN),(Username),(Password),(
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OK
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<Password> - REZ

0 AR
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<Status> or
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AT+MIPOPEN
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ERROR
+MIPOPEN: 1,2,4 53y
i A A
B\FHS | AT+MIPOPEN? OK BB W
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OK
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OK
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<Source Port> 0-65535 | EHE
<Remote_|P> - IPtBik
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<Status> —
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OK
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ERROR
+MIPCLOSE: <Socket_ID> 15 3] 35 Bk
B\AHS | AT+MIPCLOSE? "] socket
oK id 515
. +MIPCLOSE: (1-6)
MWikas< | AT+MIPCLOSE=? -
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OK
+MIPCLOSE: 2,3 EXridAH2
AT+MIPCLOSE? 3D
socketiZEz
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OK FILIBEY
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<Socket ID> 1-6 BHE
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HEST | Date> OK )
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ERROR
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ERROR
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S BB %i8E
<Socket ID> 1-6 BB
2.6 ;5F% SOCKET ETFHFRBEIE AT iS5 : AT+MIPFLUSH
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+MIPFLUSH: 3,4 LENEHKMsocket idB
AT+MIPFLUSH? 3%04
15SHIFE OK
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- OK
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ERROR
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ERROR
RS AT+MIPDNSR? OK -
Wik AT+MIPDNSR=? OK -
AT+MIPDNSR="? OK -
R AT+MIPDNSR="www.baidu. | +MIPDNSR: 220.181.38.149 -
ESHIFE )
com
OK
R AN Rz A _
r% 60s, RIEMEIMERE

WBE: 7£ AT+MIPCALL B3KE ip IS4G A 8EFER.
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28 BB =}
<Address> Ry
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2.9 1EAR(EIGIET, AT IS : AT+MIPTPS

B & F Bl RIS EE . M R I, (AT % N <Mode>F1<Socket ID>Z4(;
1652 IR R A AT 42 A<Mode>. <Socket ID>F1<Timeout>2%; 7E Buff Full #5: ~ 2AZif%
VU250, W Timeout BA 0 B WS e i 28 AN AE R, W% & Timeout 3F 0 M & 3h%ds
RIETES A, B ALEE I U R H

% 227: AT+MIPTPS #{E15<

KA 18 BIREAREILER ol
AT+MIPTPS=<Mode>,<Socket | Ih:
D>[,<Timeout>] [,< Max_Len >] >
- > A, FRBALSE, N8
IREB <mode>=1(BIFBIARSE), I +++ 45
spieaa s
oK SREURNFE AL
5L
ERROR
EHHaS | AT+MIPTPS? OK -
+MIPTPS:
(1-3),(1-6),(0-5000),(1
Mik&<S | AT+MIPTPS=? -8192) -
OK
AT+MIPTPS=? OK -
AT+MIPTPS=1,1,20,600 > -
S5 G2
+MIPOK
OK
B A Rz A
- RS | 305, iRIERESIRE
% 228: AT+MIPTPS £#4i548H
B8 B Tl
<Mode> 1 AT, BIA+++ERANFFRE (RIXEUETRE, RIRERELX)
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2 ERMRI ERTAREEE, WA+ ++ERFFIREH

Buff Fullti=, ZWMABHEXNREKER, BHHFRE, SWMARBHEXR
3 EKER, BA+++ SRBAFRE (BEXEBMAFHRERAR" +++"
R ERKTFIRERNIMax_Len)

<Socket ID> 1-6 EERIERIsocket_id

<Max_Len> 1-8192 —IREARRERIFTE(NSZFEBU fuliR=)

<Timeout> HERTAIE) (0 R ERSRR A ER /AL ms

Y. BT, AE IR IR ALY R U E+++1 48 H B+
I Ja T 47 LA St 900ms e #iaf A4 R H

2.10 TCP EWGEIE LR AT 35S : +MIPRTCP

AT TCP 3 Lk,
% 229: +MIPRTCP HiRigS
ESit) 18 ATREANREILER WA
+MIPRTCP: AT+MIPSWTMD h
[N <Socket ID>,<Number>,<Local Port>,<Data> Access Mode i8&4 0 B,
e TCP 51135
OK

=% 230: AT+MIPRTCP ££4¥4misiAB

2 g i8R
<Socket ID> 1-6 Socket §#% ID
<Number> -- RRIEWRIF RN

AtthiHOE (IMIPOPENSIZERISource Port) , 24MIPOPENIZE AO0RT,

<Local Port> 0-65535 - -
- FEp=Bao i BrYiRO.
<Data> RIRZWHEERES, T8

% 231: +MIPRTCP LHigigs

Sl BS ATHERIREILER 1588
+MIPRTCP: “recv” ,<Socket ID> AT+MIPSWTMD Hh
latiS Access Mode B AN 1
oK i, TCP Fzh Lk
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2.11 UDP IEWGEGIE L3R AT 755 : +MIPRUDP

My 4T UDP 35 k.
%< 232: +MIPRUDP #{Ffg<
&S] 'S BIEEESREL TS zilE
+MIPRUDP:
_ AT+MIPSWTMD Hh
<Socket ID>,<Remote IP/Domain>,<Local Port>,<Dat L
[EYON as Access_Mode wE AN 0
A
i i, UDP i3 ki
OK

2% 233: +MIPRUDP S5m0

SH BE 1788
<Socket ID> 1-6 Socket§&EID
<Remote IP> RILE M5 Besa = FimAY| Ptz
Aits S (IMIPOPENA R ERISource Port) , Z4MIPOPEN=E & 90/,
<Local_Port> 0-65535 "
- ReBan i AErisO.
<Data> RREWHIEIERNS, FRE

2% 234: +MIPRUDP HRigS

el 15 ATREANREIER =)
AT+MIPSWTMD =]
+MIPRUDP: “recv” ,<Socket ID> Access Mode i8&7 1 07,
EiR®S _
OK UDP =z HiR

2.12 7HEERiEE] AT 35S AT+MIPHEX
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% 235: AT+MIPHEX B&{Fi8$

it B HJREANIR AR 15288

+MIPHEX: <value>
BEIES | AT+MIPHEX=<Value> _
OK

+MIPHEX: 0
#HiFES | AT+MIPHEX? -
OK

+MIPHEX: (0-1)
MWiHIES | AT+MIPHEX=? y
OK

B A jiz

30s, LSRR IEURTE
e s, TRIEMEESLRREIURTE

% 236: AT+MIPHEX S20GE4m588

28 BE izl
<Value> 0 *iA hex &=,
1 FriEhext&Ez

2.13 BUFFER {&30iZEENENIE AT 73S : AT+MIPRD

A2 H T A AN S A R, 233 ER+MIPRTCP: “recv”,<Socket_ID>
+MIPRUDP: “recv”,<Socket ID>F, R[IT] {5 by 215200 4k Socket ID %i#z

%% 237: AT+ MIPRD #(Ei§<

i) B EJRERTIR AR 188
+MIPRD:
N AT+MIPRD=<Socket_ID>,< <Socket _ID>,<Actual_Data_Len>,<Value>
REES -
Data_Len>
OK

+MIPRD: <Socket ID>,<Actual Data Len>
#iFiE<$ | AT+MIPRD? -
OK
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+MIPRD: (1-6),(0-1500)
Mifiss | AT+MIPRD=? i}
= i \
BABE | 30, mERaRERRE
H 78]

2% 238: AT+MIPRD S£0¥4Hi5488
24 BYE 1iRA
<Socket_ID> 1-6 Socket_ID {&
<Data_Len> 0-1500 FUSENE RIS E
<Actual Data Len> | 0-1500 SCRMEENEIR R E
<Value> - SCRREERIEERE, =58

2.14 B YEIRHEIRS AT i8S . AT+MIPSTATE

s 4 F T A ) A BT RERR O BEHOIR S (S B

% 239: AT+MIPSTATE #/Efg<

s 5o

B BEATIR B R

1288

wEmS AT+MIPSTATE=<Socket ID>

BRI

+MIPSTATE:
<Socket_ID>,<Service_Type>,<Local_IP>,<
Local Port>,<Remote IP>,<Remote Port>,
<Access Mode>

oK

L
ERROR

+MIPSTATE:
1,0,"10.99.85.99",48698,"132.232.62.253",69

BAHS | AT+MIPSTATE? 99,1 _
OK
Mixds<s | AT+MIPSTATE=? +MIPSTATE: (1-6) -
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OK

AT+MIPSTATE=1

+MIPSTATE:
1,0,"10.99.85.99",48698,"132.232.62.253",69
99,1

OK
+MIPSTATE:
1,0,"10.99.85.99",48698,"132.232.62.253",69 "
5<HIE TCP ¥
99,1
AT+MIPSTATE? +MIPSTATE:
2,0,"10.99.85.99",60771,"132.232.62.253",69
99,0
OK
B A R e _ ~
z 30s, RIEMESCIREURE
% 240: AT+MIPSTATE £4%%88
e BB Wi
<Socket ID> 1-6 BB
Service T 0-3 O:TCPEZFiwm 1. TCPARSSES
< rvi > -
ervice_lype 2:UDPZi#  3:UDPIRSSEE
<Local IP> - b Ptk
<Local Port > 0-65535 | AtthFEHlIROS
<Remote IP> - AR S5 Ptk
<Remote Port> 0-65535 | imfEARSS S8
<Access_Mode> 0-1 O:BUFFERIEZ,  1T:Ef&EER
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3 2~

3.1 %S

311 kSR

AT+MIPCALL=1 IR 5 55 4%
K5

+MIPCALL: 192.168.32.235

OK

Ho5 R
ERROR

3.1.2 iR S

AT+MIPCALL=0

Wi F R R0
OK

LIPS
ERROR

3.2 TCP/UDP §E3EE T

3.21TCP

AT+MIPOPEN=1,0,"132.232.62.253",6001,0,0  //TCP #%$z
TCP & )7 b B -

+MIPOPEN: 1,1

OK
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TCP % /i R I
+MIPOPEN: 1,0
OK

3.2.2 UDP

AT+MIPOPEN=1,0,"132.232.62.253",6001,1,0 ~ //UDP #$%
UDP % ™ i 42 B -

+MIPOPEN: 1,1

OK

UDP & /7 i FE 2 R -

+MIPOPEN: 1,0
OK

323 BEW#HBEZNSRER

at+mipstate=1 1175 30) 24 Hi 5545 socket id = 1 [PIRAS
+MIPSTATE:

1,0,"10.99.85.99",48698,"132.232.62.253",6999,0

OK

3.2.4 P TCP/UDP %%

AT+MIPCLOSE=1 IR P EE RS 1
KRS :

OK

+MIPCLOSE: 1,0,0,0

KA R

OK

+MIPCLOSE: 1,0,0,1
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3.3BUFFER R & X BN EHE

3.3.1 VIHaRE MR

at+mipswtmd=1,1 IIV) 4 socket_id %% 1 & BUFFER 1%
VIES SwariE B

OK

VIES S WIS

ERROR

3.3.2 RIZFBHEREHX

AT+MIPSEND=1,71234567890" IR £ f R 1500 775, ALFE 1500 577,
Rik FATEAE R W MIPHEX=1 | K G & 3% 0-F 2 [A] 1 54
+MIPSEND: 1,1490

OK

Rk PAT AT RN :

ERROR

3.3.3 R E P X EHE KL E MM
AT+MIPPUSH=1 TR A %o} v AR 45 2% i
RIERIN:

OK

RAK R
ERROR

3.4 ZEEATHER LR

3.41TCP x£3h kI

£ TCP AR &8 — IR 3 Bk
+MIPRTCP: “recv”,1

SLM790 P & WSk AT i 2T/t E R VT b
i



MEIG

OK

B IR A i
3.4.1 UDP X3 kiR

{E UDP B3T3 — Rzl 20 B3l
+MIPRUDP:  “recv”,1
OK

3.4.1 B ES) EREIE

AT+MIPRD=1,20
BEEURIR ]

+MIPRD: 1,10,1234567890
OK

BRBURIGR ]

ERROR

3.5 EL{ERL IR
3.5.1 Ve NE AR

at+mipswtmd=1,0
VIR ) «
OK

PES S wSlE
ERROR

3.5.2 RIZHHE B M LM

AT+MIPSEND=1,71234567890”
RIE EATGAT LD

SLM790 P & WSk AT i 2T/t
i

AT G X 3 B

9] ¥ socket id BE# 1 N EALM A,
+MIPOPEN BRI\ A E AL

IR IER PR K 1500 745, A5 1500 F15,
T MIPHEX=1 | K 8 &% 0-F 2 [a] ) %k

g F11
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+MIPSEND: 1,1490
OK

Kk AT AT R :
ERROR

3.6 EfEHEATHER) LR

3.6.1 TCP £z kIR

{E TCP LN Bell it 30 Lk
+MIPRTCP: 1,10,<Local_Port>,1234567890
OK

3.6.2 UDP X3 kiR

£ UDP #ix M H i 3230 3k
+MIPRUDP: 1,<Remote_IP>,<Local_Port>,1234567890
OK

3.7 iE(ER

BB +++F 45218 900ms FER,  H+++)5 900ms 2 A JE A Bl wl iR H

3.7.1 MIAEEIER

AT+MIPTPS=1,1 IENTIME T AL

> RILHIE— WK 1500 F
AT, IR

1B H iR [l

+MIPOK

OK

SLM790 P B Btk AT iy T B9 1l
7

~
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3.7.2 BUFF FULL EfE1ER

AT+MIPTPS=3,1,,10
>

1B TR [l
+MIPOK

oK

3.7.3 EFEEER

AT+MIPTPS=2,1,500
>

1B R R (]
+MIPOK

OK

SLM790 P & WSk AT i 2T/t
P

~

133 N\ BUFF FULL #R% 1%
RIEBHE— R &K 1500 F
1, BEEIEKE 10 IR
BUE+++ IR H

IENE B, R R AR
K6 2] +++,500ms K B KR 1%
HE+++EH

2001 F11



